EANRAROBREERT — 2 N—XBISH —F 20204E6R78 (A) 3EE=2H

W+ S5 %3 KB (RS [EE] Ei ECEE e
[A&4£] 1 7% :5,100,000 2 & :2,000,000 @ 33 :1,300,000 @ 4 3 :770,000 @ 5 % :510,000 A
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
1 12| TR/ 7xU—F1 [B] 3 53-_0‘/—‘/ 2:(2_6).2 13-13-12-12| 35.3 | 88.0 | 1 zzg? gggé%;ﬁ)
R:T-W Ky YT BAAVESRET b PN AN
2 1HIRNTFHDa i 3 glii_%féﬁ 2(72?:) 11-11-10-10| 35.5 | 88.1 | 2 426 %§F§$5%5L7
RIET7RAT B:TFLT a8 O | @& saa-KL-varazT,
31510 T/ xr140—> [B] 4 3 ;?sé@gitﬂr 2:(25.9 9-10-7-7 | 36.4| 81.7 | 8 434 *’i;};ﬁ%ﬂéfﬁ)/ R
R:d—IKRYy 7T B:vAXIFRS (+4) EvJLy RT7—L4L
i MECBSEr io[lm | ege [wewelmelas] o |l e
RN—VI54 B:o7U%y b A4S
5 5 JNILISL X3 4 3 5%-_0»%—» 2:(217).2 2-3-5-2 | 37.1| 79.2 | 3 476 2@%2\;}%@)
L:O—-Kp+a7 B:O0-v> I TLX -2 =¥ Ty =L
6l111| T RIVTIH— i 9 ?Sl.y?)*ﬁ;k 2(:12/72')3 $971010 13661 77.8 15 496 %#?733%,5)/ K957 5747
QA NEYyT BiR -7 RLA © sy kTr—i
7159|7271 TA=Y #o3 | LERS ey 8-7-9-7 |37.2| 74.5 | 14 12(7)()) ;ﬁg;l&és&;ﬁ)
R:FF BR-UT =AREHIS
o . —~16-16- BEEZ (]
gl1la| hvTU—F # 3 E%%%ui (21.217/.3 16-16-16-16| 36.4 | 71.7 | 9 %6 ﬁgw ()
R:F4—TTUS>F B:LyRTI%y b EFHE
P 7 . o A ;
9l7/14 778U~ T3 | AR e 5-3-3-2 |38.3| 70.2 | 15 (_‘TS) Ey?ﬁﬁ;(%(;i
Rib—t>T— B:Y2INKyTZ2 E4HTT—L
= . TR 2= j
olalis| EX=—7v—n # 3 ié,ﬁ?ﬁﬂ (22.218/.27) 13-15-14-14| 37.5 | 65.3 | 11 (4+124) ?%gél(f;ﬁib?{ij .
L:FNT7z—7J) B:Ov i I— IRAT
SHELAL AL 3 gﬁgﬁ%ﬁﬁ 2:(239).2 6-6-7-7 |38.7| 62.7 | 7 514 %igﬂé (5m)
R:d-WRy T BFATFLT (-6) FATLANIST
. S # 3 | RLR&A 2:29.2 16-17-16-16| 37.8 | 61.1 | 12 | 446 |FEE#EEZ (E#)
Z=U=2 97 6.0 (747) o | EREHAE— AT T2
Rid—WKYyT BZXA—KTTHK P UL ¢
T+—RFT547 # 3 gﬁﬁ%k (21:219/.5 13-13-14-14| 38.2 | 60.0 | 17 | 410 %ﬁﬁg (&)
LTI TH—Z BAEU—FTN—2 0 | mx mE
Ty FHENYF "3 o GTUS | ®2) Q0.8 | 13| R e % )
LTS HEAK VAT RS O | Bexins
FNTZoH8 i 3 ﬁ{'&mﬁ)\ (2729975) 2-3-5-5 |39.2| 60.9 | 16 | 424 %EEK (£34)
RiANT - B:TUax—I (+6) B2 %Y K
TALINT ST YL # 3| s B Zeez 1.5 614110 ) 48 Lﬁ(%ﬁéff)\u K957 5747
LT IFRFTEN BARHAUT N DO
S T3 = # 3 | AEEH 2:30.4 1-1-1-1 | 40.5| 55.7 | 6 484 | BARE (EH#)
73EXTY O X620 ® o | TES=E-nF 22 @)
R:Tz/—*x/ B:T7>7Lv b RIS
@ 71 L
£ 48.5-36.3
NO>24 L | 12.6-11.5-12.5-12.0-12.0-12.2-12.7-12.2-12.2-12.1-11.9-12.3
@ 1—F—@&BIEf
=== 16(5,6,7)14(3,17)9(1,10) (11,13)-(8,12,15)-(2,4)
2al=7F= 16,7(5,6,14)3(9,17)1,10-11-13(8,12)15,2,4
Jo=3F= (x16,7) (14,17) (5,6) (3,10)9(1,11) (13,12)-(8,15) (2,4)
41—+ — 16(5,7,14) (6,17) (3,9,10) (1,11) (13,12)-(8,15) (2,4)
[ RN
B OB 12 240 794K 11-12 290M e & 6-6 530M 3EE | 10-11-12 5,140/
7 B 12 1204 10-12 1,300 | | B = 11-12 510 | | 3:==& | 12-11-10 15,070
1 170 10-11 2,340 B H 12-11 950
10 450/

ABRICOVTHRTEEERROODE, THEB LS,




